Tech Of World App WitsApp/Call- 8596976190

COMBO - PYQ BANK

332 99° Q°QAUR1 6Q

7,000- MCQ

GEEEED. 4 b -

OPSC, 0SSSC, OSSC (CGL),
Police/Constable, Jail Warder, B.ED,
JT, CHT, CT, OAVS, OSSTET, OTET

@ TEST-135 )

@ ToPIC-100

Best For- ASO, OPSC, OSSSC, OESC, POLiCé,
CHT, OAVS, B.ED, OTET, OSSTET

4
OPSC ASO, B.ED, CHT, CT, OAVS,
OTET, ODISHA POLICE, OSSSC RI, OSSSC

LSI, 0SSSC OFDC, OSSSC Group C

MATH - G@¢sIa
aeg aaal g9 od g4
E-BOOK- PDF
1,800- MCQ

s e
OPSC, OSSC CGL, 0OSSSC,
Police/Constable, B.ED, CHT, CT, 0SSSC

(R, JC, LSI, OFDC, Grnupic)] LSI, OFDC, Group €)

<& Tech of World M Q

HOME VIDEOS COMMUNITY

2li¥l Channel 6Q 6@6lg Video

ASO 6gaieasia CT BB.Ed
6gal6ai@a SSC GD Railway

PLAYLISTS

TOW

Tech of World
SUBSCRIBE

315K subscribers + 928 videos
Hello QIEF ¢1I6R 1! 26192 Channel 68 99 4168 Educational Video
Free 68 606/0IR6Q 604 69619@A @RS 92 "Tech Of World" Channel § ...

+2 @4l +3 992 U6
600 K648 61586?

62RAIR6R ?
CT B B.Ed 96Q @€ -.mo |

How To Become A Teacher After +2 Or +3 In
Tow Odisha ? How To Get A Teacher Job In Odisha ?

Tech of World - 176K views - 3 years ago

A 3 @ &3 3]

Home Shorts Subscriptions Library

Click Here

Join Us- Y 7

ENGLISH - B&4la

2 T
OPSC, 0SSC CGL, OSSSC, Police/Col %
B.ED, CHT, OTET, OSSTET CT, 0SSSCTRI/

Click Here

COMPUTER - G&alIQ
ang Al g od 94
E-BOOK- PDF (5
1,100- MCQ

Topic Wise § =
BY——%

OPSC, 055C CGL, OSSSC, Police/Constable,
CHT, 0SSSC (RL JC, LSl, OFDC, Group C)

Click Here

< Q

oo Tech Of World- (Odisha
Exam CT

Tech Of World

Your Review

sujit kumar naik

&y KRkKhk 2921

Edit your review
Developer contact v

About this app 2>

Tech Of World (Odisha Exam) Provides Mock Test &
E-Books For Different Exams

Education
3.8% 34 50K.
422 reviews @ 422 reviews Rated for 3+ @ Downlo
o Mock Test
FrECH OF WORLL ...
STl === el e

Click Here

REASONING - G&6lIQ
afg oAl 99 od ge)

OPSC, OSSC CGL, 0S55C, Police/Constable,
B.ED, CHT, OTET, OSSTET CT, 0SSSC (RI, JC,
LS|, OFDC, Group €)

< Tech Of World

PEDAGOGY - G&46Ia

ang aasl 9o od g4l

1,900- MCQ

[B.ED, CHT, CT, : i
OSSTET, OAVS, JT] SSutris

T M 41K subscribers

|
D Leave a comment > ] °

ASO Englsih 2022

g} By...

ASO General
B Knowledge 2022..

ASO Math 2022 By

(} Techofworld.In.pdf
-

)

s ASO Odia Languge
@ 2022 By...

ASO Reasoning

%ﬁ’ 2022 By...

¢ 3 comments >

Click Here



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://www.youtube.com/c/TechofWorld
https://play.google.com/store/apps/details?id=com.tech.edu
https://telegram.me/techofworld

Tech Of World App WitsApp/Call- 8596976190

Assessment Name : OPRB CBRE Warder- 27th Dec 2022-SL-1(B),
# QUESTION
Subject: General English | Chapter: set-10

Q@ Look at the clouds. It

A. will rain
_ B. is to rain
Options ) ) .
JC. is going to rain
D. will be rain
Q@) A number of children suffering from cold.
A. is
) v B. are
Options
c. has
D. have
QQ3) '"We may not win the case in the court', the lawyer said to his client, ' , we can appeal
: to the supreme court.'
A. therefore
) v B. however
Options
C. for
D. none of the above.

Q@4 "Be quiet, "I said to them. (Change into Indirect Speech)

A. [ asked them that they should keep quiet
v B. I told them to be quiet.

Options
C; I warned them to be silent.
D. [ advised them to maintain silence.
Q@B Ashok ill for three weeks. He is still in hospital.

A. had been

. v B. has been
Options
C. is

D. was.

Q (6) Are you in the black ? The underlined phrase means

0. have money in your bank account
) B. wearing black clothes
Options )
C. owing more money than you have
D. in debt

Q(7) | He told us an incredible story about his grandmother catching a thief.
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The synonym of the underlined word is

A. probable

v B. amazing
Options
acceptable
D. plausible
Q@8 [t rained for an hour.
A. continue
‘ B. continuous
Options
continuation
v D. continuously.
Q) Translate in to English:-
AIRRIM A6RR TQ G| VQAILIS |
A. Now-a-days many Hindus were not reading the Gita.
B. Now-a-day many Hindu is not reading the Gita.
Options
J Now-a-days many Hindus are not reading the Gita.
D. Now-a-days many Hindus was not reading the Gita.
- Translate in to English:-
S ARSI B ARG YREA 64 Y68 RN 68108 |
A. He has been become so popular by the doing of his honesty and simplicity.
or JB. He has become so popular by doing of his honesty and simplicity.
ptions
He will become so popular by doing for his honesty and simplicity.
D. He have become so popular by doing for his honesty and simplicity.
01 Translate in to English:-
AU, YRER G651 Tl Gi@fz‘. QM K2Q |
J A You will certainly achieve success by virtue of your perseverance.
) B. You have certainly achieves success by virtues of your perseverance.
Options ) ) ] )
You are certainly achieved success by virtue for your perseverance.
D. You certainly achieves success by virtue for your perseverance.
Translate in to English:-
Q(12) o ~
6¢1I0 6LLR ¢ GMG Ll @'2jml |
A. I does not went to school because of my illness.
B. [ do not go to school because for my illness.
Options ) _
JC, I did not go to school because of my illness.
D. [ will not go to the school because of my illness.

Q(3)  Translate in to English:-
odll 6259 QIFYER I 6IARGIA |
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A. The roads had been becoming muddy because of the rain.

] v B. The roads had become muddy because of the rains.
Options
The road were becomes muddy because of the rains.

D. The road have became muddy because of the rain.

Read the following passage and answer the questions given after it.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in
every known culture. The basic function of a single is to impinge upon the environment in
such a way that it attracts attention, as for example, the dots and dashes of a telegraph circuit.
Coded to refer to speech, the potential for communication is very great. Less adaptable to the
codification of words. signs also contain meaning in and of themselves. A stop sign, for
example, conveys meaning quickly and conveniently. Symbols are more difficult to describe

Q (14)  than either signals or signs because of their intricate relationship with the receiver’s cultural
perceptions. In some cultures, applauding in a theater provides performers with an auditory
symbol of approval. Gestures such as waving and handshaking also communicate certain
cultural messages. Although signals, signs., symbols and gestures are very useful, they do
have a major disadvantage. They usually do not allow ideas to be shared without the sender
being directly adjacent to the receiver. As a result, means of communication intended to be
used for long distances and extended period are based upon speech, Radio, television and the
telephone are only a few of such means.

According to the passage, what is a signal?

A. A form of communication used across long distances.
) B. The cultural perception of communication.
Options ¥ i '
A type of communication that interrupts the environment.
v D. A complicated form of communication to describe.

Read the following passage and answer the questions given after it.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in
every known culture. The basic function of a single is to impinge upon the environment in
such a way that it attracts attention. as for example, the dots and dashes of a telegraph circuit.
Coded to refer to speech, the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. A stop sign, for
example, conveys meaning quickly and conveniently. Symbols are more difficult to describe

Q (15) than either signals or signs because of their intricate relationship with the receiver’s cultural
perceptions. In some cultures, applauding in a theater provides performers with an auditory
symbol of approval. Gestures such as waving and handshaking also communicate certain
cultural messages. Although signals, signs, symbols and gestures are very useful, they do
have a major disadvantage. They usually do not allow ideas to be shared without the sender
being directly adjacent to the receiver. As a result, means of communication intended to be
used for long distances and extended period are based upon speech, Radio, television and the
telephone are only a few of such means.

Choose the correct statement
v A. Speech is the most advanced form of communication.
) B. Speech is the real form of communication.
Options ) o o
Speech is the basis of for communication to occur

D. Speech is dependent upon the advances made by inventors.

Q(16)  Read the following passage and answer the questions given after it.
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Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in
every known culture.The basic function of a single is to impinge upon the environment in
such a way that it attracts attention, as for example, the dots and dashes of a telegraph circuit.
Coded to refer to speech, the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. A stop sign, for
example, conveys meaning quickly and conveniently. Symbols are more difficult to describe
than either signals or signs because of their intricate relationship with the receiver’s cultural
perceptions. In some cultures, applauding in a theater provides performers with an auditory
symbol of approval. Gestures such as waving and handshaking also communicate certain
cultural messages. Although signals, signs, symbols and gestures are very useful, they do
have a major disadvantage. They usually do not allow ideas to be shared without the sender
being directly adjacent to the receiver. As a result, means of communication intended to be
used for long distances and extended period are based upon speech, Radio, television and the
telephone are only a few of such means.

This passage explains that

A. Symbols are the easiest to interpret

v B. Signals, signs, symbols and gestures are forms of communication
Options
Significance of waving and handshaking is different in different cultures.

D. Different cultures have different signs and symbols

Read the following passage and answer the questions given after it.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in
every known culture.The basic function of a single is to impinge upon the environment in
such a way that it attracts attention, as for example, the dots and dashes of a telegraph circuit.
Coded to refer to speech, the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. A stop sign, for
example, conveys meaning quickly and conveniently. Symbols are more difficult to describe

Q (17) | than either signals or signs because of their intricate relationship with the receiver’s cultural
perceptions. In some cultures, applauding in a theater provides performers with an auditory
symbol of approval. Gestures such as waving and handshaking also communicate certain
cultural messages. Although signals, signs, symbols and gestures are very useful, they do
have a major disadvantage. They usually do not allow ideas to be shared without the sender
being directly adjacent to the receiver. As a result, means of communication intended to be
used for long distances and extended period are based upon speech, Radio, television and the
telephone are only a few of such means.

Why were the telephone radio and TV invented ?

A. To provide new forms of entertainment

) B. It was believed that signs, signals and symbols were obsolete
Options )
It was difficult to understand symbols

JD. People wanted to communicate across long distances.

Q (18) | Read the following passage and answer the questions given after it.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols and gestures may be found in
every known culture.The basic function of a single is to impinge upon the environment in
such a way that it attracts attention, as for example, the dots and dashes of a telegraph circuit.
Coded to refer to speech, the potential for communication is very great. LLess adaptable to the
codification of words, signs also contain meaning in and of themselves. A stop sign, for
example, conveys meaning quickly and conveniently. Symbols are more difficult to describe
than either signals or signs because of their intricate relationship with the receiver’s cultural
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perceptions. In some cultures, applauding in a theater provides performers with an auditory
symbol of approval. Gestures such as waving and handshaking also communicate certain
cultural messages. Although signals, signs, symbols and gestures are very useful, they do
have a major disadvantage. They usually do not allow ideas to be shared without the sender
being directly adjacent to the receiver. As a result, means of communication intended to be
used for long distances and extended period are based upon speech, Radio, television and the
telephone are only a few of such means.

Choose the most appropriate title for the passage.

JA. Signs and signals

B. Gestural communication
Options o
Speech variations
D. Means of communication
Q (19) Arrange the words for meaningful sentences.
phones/not/used/must/mobile/be/driving /while
A. While not mobile phone we must drive
) B. Mobile phones must not be used while driving
Options
While driving, mobile phones must not be used.
D. While using mobile phones, we must not drive
Choose the meaning of the following
Q(20) I .
A stitch in Time saves nine
A One time more can be saved
B. Stitch can save live
Options
Do your work within time period
v D. Check and rectify small errors
Subject: Odia Language | Chapter: Set-10
QLo dalsl @
Q)
Y-
JA. Q19194 6210QIE
. B. Q194 60@ qlE
Options &
C. diel §9 6€Ing1e
D. Q98 6QRRIE
Q) a9 I25Q FUC 261G GR §'¢ 629 ?
R
A. 64RI9Y
~|vB. ATRIQE
Options _
2Aa8Ige
D. AMBIGE
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5 QUYD 919918 RIS Y8 99 |
69 G ©EYYeq G6w |
JA. A6 SREamI
B. Qo6 QR6aml
Options _ _
AIFO6Q @R6Cml
D. Q6 R6aM
o QUYD G912 RIS 08 /9|
QIRIR YRR JQOURIER SIS 685 DB YEMI |
JA. 6QIRIGCIR
B. AqNYe
Options e
c.  qdand
D. JQ°ad
06 QYRS 65199g Q1Y R64 YOIUIS RREREI 69IM BFAIQ AF1L FRCIF R4l | - 921 99 &
7 dRlea eley 2
A. qldgea
B. ALY
Options

vC. a9Ggee
D.  2geaRIgea
Q) Ul FIU QUBE m G | - L] 69Q Q1Y ?

A, SQQI8Y
B. RUSSISY
Options
A ala (Tl
D. Q¢ G AIISY
Q) 9@ ¢l disPg KL, "QRIYER 6C16S SO FIM SR QA" | - YT RBTG ISR F6m
6006 09 689 ?
A. A6C AR S QIR ARG G2 IgF |
. B. ¢l AigPg GGG FIM SRAT QISR |
Options _ _ o
vC. QIR FROT 6691q 796 O AIFPg 2AFEU SR |
D. ¢l AP QIR SRAT AQE AISIAI |
AFTERS F6M 261 699 2
Q@®) ;
‘gﬁ?aa'
Options | 5 ggpa+@Q
B. ga + «9
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C. ge+ag
JD. g8 + g

Q) Q618 gg6 §F 619 TgI2 |
(A) 999 (B) QEYIQ (C) 9L19Q (D) fL1VQ
A. LTI
/B. LTI
Options
QIR
D. QLINIR

Q(10)  'URRGIQ A0S 626! - I 2 IQYS| CRAINSIENT G6EIB FRIQ 699 2
A Qlg Q6% a6 QI
B. GF 94969627 999

Options _
vC. 2R 269 Q1% Lug
D. Qaely 69lRCIE geiN
Q (1) 0°QlW1 APERLYDN 0% 6&2ll ARl LR 9
The results were declared to have been passed.
A. AVIER SR 621NN AVICPR 6RVE FRUAIRE |
Onti v B. AR dIY 6LIRYLIRN IRXIVIPR WIS @AM |
ptions o %
C. JAJNER QPR 6L QYL H 6LVE @UAULR |
D. AAJNER Ui 6LIRN2NRN IXIVIP R 6Dl QUL |
Q (12) QAU 2FERLRN 0% 6&2ll dgRIe oL /R
He has gone to the cinema with his friends. (accompaniment)
JA. 69 @I'a AIPFIe® 98 J6aell AR |
B. 69 8I'Q AIFPFIe® 98 J6adl AIB 1
Options ~
64 G dIgPelIam 9e d6aell dindieal
D. 69 8I'Q AIgPlg@ 98 d6acl IRl 2R |
R°QUR1 2A6RQ A0 BE2 29RNL FLR 9
Q(13) ; ;
Stationery is sold here.
JA. JE0I6Q CI6RIT 9QY g @1
) B. F6QIeql QY YT0I6R Saa [SNRLIR]
Options - - o
62l @Y 92060 g4 69@ @Y 1
D. F6RQIe1 QY YT0I6R GoL 699 1
Q (14) 0°QUN1 AFERLD g0 6&2ll AYRIL LG 9 ]

Being insulted by his master, the servant went away.

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

A. aea 9Ial 199G ARG 62IRR 1
JB. faea 9l SIRRT AAFIRE 621R FIMIIMI 1

Options _ _ o
C. FIAAT AULTE 6L (@@ I 1
D. aea 9191 F199% TG 6LadIeR |
Q (15) R°AUR1 2FERLR 0T 3G 2GRS AR [
As you have not read the book .the teacher will get angry with you .
A. 661 QL5 A@ Q2QIQ F8Q 9 QUEA AUT QUG |
B. 99 9F1 QUER QUTIRE 651 9L0 9% 92IQ
Options

vC. 961985 0@ 52919 S8 9F Q69 QIT6S |
D. 399 gf QU6S QITZ6M 961 9TF A FSIQ |

0% 006899 9E QBN U a9 |

IRR GRQIg SIE2em 9K g A9IR, 98 A9L 9ARIN | 692J6R 1S 65194, ARSI

2R TPIR 9L QAR | QIR 22N F6eR ; AAFTER 67160 0 XS FRGY6M |

69 9@ gdisP IR @561 FREEM | 6226Q 6FGRG, AIMT | AIRG1E, AANRGE, -

4 9619 ARG 6QIRgRl | 699Eq 908 SAKIRAIRS FIF | SIeQ deR T8l KF9l.

QIES , AR 69159 R 9AITIR | FIFQ QINGAIEE 9I0R A°AETR  {RYg e,

Qe gRul  agaiel, JIf@ie RS QRIR aQes8 |
Q(16) 9IN199Rg IICARE SIS 696k JFIR FQRT |

AQIeI® 90990 dRds JRl 99998, 991k AR 2eqeds |
6999 GQ9U6R JR¥e 6LIRUIRR | AFE 98 ZIF6R 60% Q08 /SR 2°ad,
Qe afedsl | QULIEE  QERRUIRE | JIf-S5I9g JRLIQRIl,
IR ABRIQ AR ABINRE. YUTE FRQIR g6e 9] *AR 9% ARG AR |
2196g FR F6M, AFAE F6Q 9IAdl | RFLIG IR 69FIF1 6RR-IR ART,
Qe 98° goIfdin Ages 99 2AQIgIGa 9ol |

JIFR 69 IRIQ AR G1BQIG IR ?
A, 64196 6 2SI Qe

_ B. 29619 696R6 gd
Options _
JC. 2088 6391a Q4
D. gaKe B23eIa g4

QA7) | G oteaeg 0T 289 99 99 |

ARG FRRIG SIE2eM 99 98 AR, IS AL IRRIQ | 69269 TS 66194, ARISIN;
2 BRI 9e° AR | qIfG1 22GIg qelem : 2MBER 6168 GQ YEIAE KRR |
69 9@ QdisP IR G981 FT26M | 6926a 6FERGL. AIMT , ARGIE, AANGGE, -
4 9019 A8e 6QIRRl | 699087 928 FAUARARG Q1T | ClFn AeR T8l /g9l
QIS , A1 69159 R AILIR | SIRQ QKGR 9I0R AHR  [Rg @,
Qe g aAgQN, QIR@IE ERYIQ QFIR Qaes |
SN 997q JeTAQREd AINHIR 696 IoIA FQRE |

ALIIFI® U9R9RIQ gRAs AR AgEqR. e AR ALagd |

6999 39569 U99e 62IRUIRR | 718 98 IF6R 667 Q08 Vs A°ad,
QQe AL | QUIe]  QBeRded | SInleeiag  afelesial,
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TR REFIQ TR ABIARG, YIIGE SRS g6eR 9 K08 I ARG 9F |
2dIedq Ggn aem. AT K69 IEINEl | RELIY FIRAUN 65CINGT 69RI-IR ART,
2°ad 98° geIndip RgRe 99 ALNGIGa 9ol |

6R66696R IRl 21ga8 6 ?
A 2rgd Q9 2IFedRl IR ¢ 626m
B. QRIASE @ f6m

vC.  Aedg 96aa 696m
D. Q029 6561961696m

Options

54 05689g 0T Q09 948 89 |

QIR 91Q9Ig SlEelem 98 g8 AalR, I8 QPR 9RQIR | 69262 §2IS 6494, AFIFIN;

2l B9IR 98° AKE | SIf@ 2 e2em ; AAMBER 61T 9Q YEAR FRGY6M |

69 9@ Q4lisP IR @GR ARUSM | 6J6R 6TERG!, ARG , UK, AT, -

9 9619 dOQ8 68102l | 6996 928 SAULIRTIRS FIQ | IR 9an 98l K99

QS , ABel 6915 A AR | YRR QIARHIER JSUR IR  FRG !9,

Gea g agQiel, JIfQIe Sl QRN Qoee |
Q(18) 9N 9FRg IeFaQed AIGES 6967 U010 9RRT |

ALIINE CReFRIQ gRre M 99e9¥. Ale an  2legegs |
6999 T9U69 U0Es 6LRAIRE | A8 9F IF6R 664 QO] [ A,
QQs  aIgedal | QULIE]  QERRQIRE | JI9-S5Ieg dRLIaRIal,
CIFR QFIQ AIFFR ANIRE. YIS GRS g6eRl 9] 0R 99 AFIRG dFe |
Aedq Qdn aem. KA [69 IEINEl | RELIY FIRAUR 65CINGT 69RR-IR ART.
QA 9Q° goIRdIR AgRe 99 ARNYIFS 095G |

AIFR19°9 gRa AFITINGE K6 K6 2R 2
A 68GR6l, 2IG1G . URRIT, ATIRYE
/B. 997 381, 995, QIS4 , 9%
66INE., 2QIBIR |, AFRR
D.  de¢. 9ad 99° geladl

Options

0 J6RAG 98 QA9 LR /A |

QIRF RAIG SIR2YEM IR gF AR, 98 9L 9RQIR | 69268 G2 64184, ARSI,

2l G319 9Q° AR | QIfG1 2SIg qelem ; 22G1BP6R 69168 GQ YEAG ARG |

69 9@ lisP AIRSR 8GRI ARASA | 696R 67GRG, ARG , AUKNT, AARQE, -
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S, 2ARIQE
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a[ollal]
D. 854
Subject: General Studies and Computer | Chapter: Set-10
oW In which state of our country the construction of rain water harvesting project on roof top is
made compulsory ?
A. Jammu-Kashmir
) B. Keral
Options )
JC. Himachal Pradesh
D. Gujrat

Q@2 The disease 'Plague’ is spread by which animal ?

A. Mosquito
v B. Rat
Options
Dog
D. Jackal

Q@3 Where does your PC store your programmes when the power is off?

Options Al Dram

v B. Hard Disk
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C. Cache
D. Monitor

Q@) All modern computer operate on

A. information
B. floppies
Options
JC. data
D. word

Q5 The Bhakti Movement was first organised by

A. Ramanuja
) v B. Kabir
Options
C. Ramanandia
D. Nanak

Q(6) Concrete is a mixture of

v A. cement + sand + stone
) B. cement + sand + iron
Options
C. cement + clay
D. cement + gypsum

QO Opera mini is a

JA. Search engine
B. News reader
Options
C. Graphing package
D. None of these

Q8 To move a section in slides pane

A. Right click on the section name.then click move section UP or Move section down
) B. Left click on the section name and drag it up or down to move it accordingly
Ciptlons C. Left click on the section name and press the up or down arrow key.
v D. Both (A) and (B)
Q® Using you can search through your document .
v A. Navigation pane
B. Searching pane
Options
C. Find Pane
D. Document pane

Q (10) = Which country has the largest rail network in the world?
Options | 4, India
B. UK
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C. China
v D. USA

Q (11) = Who founded the Brahmo Samaj?

A. Dayanand Saraswati
v B. Raja Ram Mohan Roy
Options
C. Vivekananda
D. None of these

Q (12) = Which city in India is called the 'Garden city?'

JA. Chandigarh

. B. Bengaluru
Options .
G Srinagar
D. Thiruvananthapuram

Q (13) | Which of the following is not a sedimentary rock?

A. Limestone
v B. Marble
Options
C. Sandstone
D. Shale

Q (14) = Which of the following rivers flows between the Vindhyan and Satpura ranges?

JA. Narmada

B. Tapti
Options

C. Gandak

D. Godavari

Q (15) = Which of the following elements is not present in stainless steel ?

AN Iron
v B. Tungsten
Options
C. Chromium
D. Nickel

Q (16) | Who was the second President of the Indian Republic ?

A. Dr. Zakir Hussain
JB. Dr. S. Radhakrishnan
Options
C. Dr. Rajendra Prasad
D. V. V Giri

Q (17) = Denmark, Iceland, Norway, Sweden and Finland are together called -

Options | 4 Slovakia

v B. Scandinavia
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C. Netherlands
D. Australasia
Which state is to the North of Odisha?
Q (18)
VA Jharkhand — State

B. New Delhi — State
Options

G Madhya Pardesh — State

D. one of these

Q (19)  Who set up the first Indian Jute Mill in Calcutta?

A. G.D. Birla
] v B. Seth Hukumchand
Options _ )
C. Jamsetjee Nusserwanjee Tata

D. Dwarkanath Tagore

Q (20) | Which of the following countries faced labour shortage in the nineteenth century?

v A. America
B. Britain
Options
C. France
D. Germany
Q1) As per the UN Multidimensional Poverty Index (MPI), which country has the largest number
of poor people worldwide?
A. Nigeria
v B. India
Options
C. Congo
D. Indonesia

Q (22) | World Statistics Day is being observed on which date?

A. October 22
B. October 19
Options
JC. October 20
D. October 21
Q (23) Union MoS for Electronics & Information Technology Rajeev Chandrasekhar has flagged off
the first Semiconlndia Future Design roadshow in which of the following state?
A. Madhya Pradesh
] B. Uttar Pradesh
Options

LG Gujarat
D. Rajasthan

Q(24) | Kaustubh Kulkarni was elevated as the head of JP Morgan India, the multi-national bank has
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its headquarters in which country?

A. Japan
_ JB. USA
Options
C. France
D. Canada
Q (25) The draft of the National Credit Framework for Public Consultation has been launched under
which ministry?
JA. Ministry of Education
. B. Ministry of Housing and Urban Affairs
Options o ) ]
C. Ministry of Electronics and Information Technology
D. Ministry of Finance
Q (26) Presently, the Jail Department of Odisha follows the rule and regulation of which of the
following manual ?
A. Odisha Modern Jail Manual,2020
_ v B. Odisha Model Jail Manual,2020
Options

C. Odisha Prison Jail Manual,2020
D. None of these.

Q (27) Who founded * Kisan Mazdoor Praja Party” ?
LA Acharya Jivatram Kripalani
B. Bipin Bihari Pal

C. Bal Gangadhar Tilak
D. Jawaharlal Nehru

Options

Q (28) = Which part of the Indian constitution deals with Fundamental Rights?

A. Part |
B. Part II
Options
. Part I1I
D. Part 1V

Q (29) Which of the following process that does not involve evolution of Co,?

A. Combustion
B. Respiration
Options )
v C. Photosynthesis

D. Fermentation

Q (30)  The instrument that measures and records the relative humidity of air is

Options | 4 Hydrometer
v B. Hygrometer
<. Lactometer
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D. Barometer
Subject: Numerical Ability and Reasoning | Chapter: Set-10

If the first day of the year ( other than the leap year ) was Friday ,then which will be the last

Q) day of that year ?
A. Monday
) v B. Friday
Options
C. saturday
D. sunday
QQ) If 'man' is called 'girl ', 'girl' is called 'boy'. 'boy' is called 'lady’, 'lady' is called 'butler' and
'butler’ is called 'player’ who will serve in restaurant ?
VA Player
B. Butler
Options
Boy
D. Lady

In the following question, four/five pairs of words are given, out of these pairs one does not
Q@3 bear the common relationship which the rest do. You are required to find that odd pair.

(a) Locate : Ocltae  (b) Examin : Xaeimn (c¢) Plenty : Leptyn (d) Coward : Owcerad
A. Locate : Ocltae
) B. Examin : Xaeimn
Options
vC. Plenty : Leptyn

D. Coward : Owcrad

In the following question various term of a letter-numbered series are given with one term
Q) missing as shown by (7). Choose the missing term out of the given alternative.

ELFA, GLHA, ILJA, ............. , MLNA
A. OLPA
B. LIMA
Options
C. KLMA
v D. KLLA

Q5 The largest four-digit number which is a perfect cube, is

A. 9999
JB. 9261
Options
8000
D. None of these
Q6 In the following question, complete the second pair in the same way as first pair.
Food : Stomach : : Fuel : ?
Options | 4 Plane
v B. Engine
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C. Truck
D. Automobile

QM If Atul finds that he is twelfth from the right in a queue of boys and fourth from the left, how
many boys should be added to the queue, so that there are 28 boys in the queue?

A. 12
v B. 13
Options
14
D. 20

The average weight of 24 students of section A of a class is 58 kg, whereas the average weight
Q(8)  of 26 students of section B of the same class is 60.5 kg. Find the average weight of all the 50
students of the class.

A. 62 kg
v B. 59.3 kg
Options
60 kg
D. 63.2 kg

Consider the following statements
QM [. 7710312401 is divisible by 11.  II. 173 is a prime number.
Which of the statements given above is/are correct ?
A. only 1
B. only IT
Both I and I1
D. Neither I nor II

Options

Q (10)  The product of two numbers is 3024 and their LCM is 36. Find their HCF.

A. 88
B. 82
Options
JC. 84
D. 86
Q (11) LCM of two numbers is 12 times of their HCF. Sum of LCM and HCF is 195. If one of them
is 60. Find the another.
A. 48
v B. 45
Options
52
D. 36

Q(12) The age of a man is 3 times that of his son.15 yr ago,the man was 9 times as old as his
son. What will be the age of the man after 15 yr

Options = 4 45 yr
B. 60 yr
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Q(13)

Options

Q14

Options

Q(15)

Options

Q (16)

Options

Qa7

Options

Q (18)

Options

vC. 75 yr
D. 65 yr
A dealer marks his goods 20% above cost price.He then allows some discount on it and makes
a profit of 8%. The rate of discount is
A. 4%
B. 6%
10%
D. 12%
If a selling price of Rs 24 results in a 20% discount of the list price,the selling price that
would result in a 30% discount of the list price is
A. Rs 16
v B. Rs 21
Rs 25
D. Rs 31
The ratio of the ages of A and B is 5:7. If the difference between the present age of B and that
of A,6 yr hence is 2,then what is the total of present ages of Aand B ?
A. 49 yr
B. 52 yr
56 yr
v D. None of these
X and Y start moving towards each other from two places 200 m apart. After walking 60 m, Y
turns left and goes 20 m, then he turns right and goes 40 m. He then turns right again and
comes back to the road on which he had started walking. If X and Y walk with the same
speed, what is the distance between them now?
A. 20m
B. 30 m
v.C. 40 m
D. 50 m
A woman introduces a man as the son of the brother of her mother. How is that man related to
the woman?
A Nephew
B. Son
Cousin
D. Uncle
What approximate value will come in place of question mark (?) in the following
question.

441.01 —232.99 + 1649.99 = ? + 1225.92
A. 600

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

JB. 630
C. 660
D. 690

Q (19) | What is an event with one element called?

v A. Basic events
) B. Complementary events
Options
C. Mass events

D. None of these

Q (20)  If anumber is chosen at random from 1 to 100, what is the probability that it is divisible by ?

A. 29/100
) B. 16/99
Options
JCL 33/100
D. 1/4

Q (21)  Ifthe equation x = 5 is graphed, which of the following points will lie on it ?

A. 3,2
B. (2,3)
Options
C. 0,5)
\/ D‘ (55 0)
Q (22) = Which of the following points does not lie on the inscription of the equation 3x -y =1 ?
v A. 0. 1)
B. (1,2)
Options
C. 2.9
D. 0,-1)

Q (23)  What is the mean of the first 20 cardinal numbers?

A. 10
B. 11
Options
J'C. 10.5
D. 115

Q (24)  What is the median of all the factors of 187

A. A

B. 4.5
Options o

C. 6.5

D. 5.9

Q (25) For what values of k will the two roots of the quadratic equation 3x2 + kx + 3 = 0 be real and
equal ?
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A. 3

. B. 4
Options &

v D. 6

Q (26)  Three fifth of a number is 18. Find the number ?

v A. 30
B. 35
Options
C. 45
D. 15

Q (27)  Addition of ( -a-b-c) and (a-b+c) is

A. -2a
v B. -2b
Options
C. -2¢
D. -2a-2b-2c¢

Q (28) Convert decimal 64 to binary

A. 01010010
v B. 01000000

Options
C. 00110110
D. 01001000
Q (29) A Jail, having a prisoner of 4000, requires 150 liters of water per head per day . It has a tank
measuring 20m x 15m x 6m . For how many days will the water of this tank last?
A. 15 days
B. 6 days
Options
e 9 days
JD. 3 days
Q (30) The selling price of 50 articles is equal to the cost price of the same 60 articles. What is the
percent profit or loss?
JA. 20% profit
B. 20 % loss
Options
C. 16 % profit
D. 16 % loss
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